Q2
[ X X2 )

(£)Ls) plol K9S dylumodd diingid> '©13 -
Jooyblsas )l ==

395 OLAI3 (655 U3 ) 985 pams Oliaw 3 paxp oS (S o dod 39 03 Y90l 152 () bj 4y lez oy OF
(@921 polo ©)bj 4 phao @il Lolion 905U SL (£)Lo) Capia> Bg5) plolb (Soluwod 9 3l pun) 439215 032
.)fbuaob’,sab,wu.olo6'),0,j‘uu'v")':_b&a,(&)Lb)fb'&hd,ﬁjlsj,oﬁs.oﬂi.ﬁ,)g

plol oo 0 1539) 4208 45 025 00 (5) o Aisn . b 5083955 Lo O orad 3 03 3 50 5S35 P22 L 4S (033 )b
uiSled e b 23l4iS b 49 45 (Gl dod (sl 9 pailgs ) bj jlod 9 WU 9 020550 909 9 sy s G bpgo

paSles

ovbes el G2l Ty )9 9 s Sl o>
Caoz 0393 @B 38L Cudugy 4 @i o0
9S00l ol g2y Gl
-éﬂ@rugbiigbpﬁl‘@

oS 50 dojoj pa L Aol O)bj g
@Nﬂ'wﬂ'wrwd‘&ﬁr@"
9@,)1@,300‘;;4.3.‘;56&.."@:”?&»!
Mbn}&SnMW| "“;":AJ|6}$‘J|MU¢,
mud.als«ﬂ,m b).i',a.o 4.Lol,.. &slj
B3 e 351 2




